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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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POSTMAN/MAIL GUARD EXAM FOR 2016.17 AND 2017-18(0PEN MARKET)
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Question Booklet Series: B Question Booklet No.: 4i} -;.:,'f 5)’62’
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Date of Examination:

OMR Answer Sheet No.:

3. H +] H .
Candidate’s Name: Candidate’s Signature:

Total No. of pages: Total No. of Questions:

16

‘Total Marks;

“ CANDIDATES SHOULD OPEN THE SEAL ONLY AFTER THEY ARE ASKED TO DO SO.

100

The question paper is made up of the following sections as tabulated below: .;:
Section Language No. of Questions
(Gmei‘:‘g;ﬁ feile) English & Odia 25
(MZi}z;jzics) Englgsh & Odia 25
Pﬁghgg) English _ 25
(Reg?ﬁ:lTLEr(nl gIl)lage) el 25
i INSTRUC TTONS |
1. Write your Roll Number and OMR Sheet Num' et in the space provided above.

Write the Date of Examination, Candidate name and affix signature in the space provided above.

3. Al qdcstions are COMPULSORY and carry 1 mark each. There is NO negative marking,

4. All questions have four answers, out of which only

one is correct. Please choose the correct answer,
darken the circle given in the separate Answer Sheet with ball-point pen only,

No marks will be awarded for darkening more than one circle for a single question.

In case of any variation in translated Odia version, English version will be considered as final.
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PART-A (General Knoﬁlcdgc) J
The term of office of the Vice-President of India js-
(A) 3 years (B) 4 years (C) 5 years (D) 6 years
Which of the following countries form(s) the tri-point of the Diphu mountain pass?
(&) India B) Burma - (C) China (D) All of these
Which of the following is NOT an indirect tax?
(A) Excise duty (B) VAT (C) Corporation tax (D) Entertainment tax
When was the Sepoy mutiny started? |
(A) 1850 (B) 1855 (C) 1857 (D) 1865
Fermi is the unit of- |
(A) Mass (B) Length (C) Force (D) Energy

By which launch vehicle did ISRO successfully launch GSAT-6A telecommunication
satellite in March 2018?

(A) GSLV-F09 (B) GSLV-F08 (C) GSLV-D2 (D) GSLV-F01
Where was the first special economic zone set up in Asia? :
(A) Kandla (B) Cochin (C) Chennai (D) Noida

Who among the following was the leader of Bardoli satyagraha? ;
(A) Lala Lajpat Rai (B) Vallabhbhai Patel (C) Chandrashekhar (D) Bhagat Singh
o - Azad
Who has been appointed as the principal scientific adviser to the Government of India?
(A) Rajagopala (B) Krishnaswamy (C) Satheesh Reddy (D) Avinash Chander
Chidambaram Vijay Raghavan ‘ ‘
India's first insect museum has been opened in in March 2018. -
(A) Tamil Nadu B) Kerala (C) Karnataka (D) Andhra Pradesh

When did the second battle of Panipat take place? '

(A) 1526 (B) 1556 (C) 1565 D) 1570,

Who is known as the first and last female ruler of the Delhi Sultanate?

(A) Chand Sultana (B) Shajar al-Durr (C) Kosem Sultan (D) Razia Sultan
Which city has installed digital radar cameras to clamp down on over-speeding drivers in
March 20187 |

(A) Mumbai (B) Pune (C) Bengaluru (D) Chandigarh
Who among the following has won the 2018 Formula One Australian Grand Prix

tournament?
(A) Sebastian Vettel  (B) Lewis Hamilton ~ (C) Kimi Raikkonen (D) Daniel Ricciardo

Which team has won the 8th Hockey India Senior Men National Championship 20187

(A) Petroleum Sports  (B) Railway Sports (C) Hockey Punjab (D) Air India Sports
Promotion Board Promotion Board Promotion Board

On which of the following rivers is the Tehri dam located?

(A) Kosi (B) Mahanadi. (C) Bhagirathi (D) Chambal

In which Indian state has the world’s longest sandstone cave been discovered?
(A) Mizoram (B) Meghalaya (C) Tripura (D) Nagaland
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18. __ is otherwise known as the Japancse art of paper folding. o
(A) Tkebana (B) Bonsai ©) Origami (D) Suiseki
19. In which category has Vinod Kumar OmpmkaSh clinched bronze in men’s freestyle at the
2018 Asian Wrestling Championships?
(A) 65kg (B) 70 kg () T2 kg (D) 75 kg
20. With which of the following festivals is Madhavpur mela associated?
(A) Ram Navami (B) Holi ©) Gudi Padwa D) Baisakhi
21. What is the maximum number of votes can be cast in an electronic yoting machine?
(&) 1560 (B) 2490 (C) 3250 (D) 3840
Directions (Q. No. 22-23): Read the following information carefully and answer the
questions given below.
Arun, Balu, Sandya, Daya, Rama, Fida, Ganga and Hari are sitting around a circular table
facing the center. Balu is second to the right of Hari and third to the left of Arun. Daya is not
an immediate neighbour of either Balu or Hari and is second to the right of Fida. Sandya is
fourth to the right of Ganga.
22. Who is sitting between Arun and Ganga?
(A) Fida (B) Balu (C) Daya (D) Rama
23. If Sandya and Balu interchange their places, who is sitting fourth to the left of Ganga?
(A) Sandya (B) Balu (C) Hari (D) Arun
24. Find the missing number in the given series.
20, 19,17, (...) , 10, 5
(A) 12 ®) 13 (©) 14 D) 15
25. Ravi and Sunil can do a piece of work in 3 days and 6 days respectively. If they work
together, in how many days will they finish the work?
(&) 1 (B) 2 © 3 D)6
E PART-A (General Knowledge) ]
' 1 QI90a ad 1ga8ea QIR 62IReId--
(A) 3 9d ®) 498 (€ 5<d D) 6 F
2. FQAge U@ 6R6 6QaQeR @ AIR6e] I IR a4 98 @Q8&?
(A) Q168 ®) @l - (© 9] (D) QI6U8 ALY
3. BqAge AUQ 694 1@ acaid g7 gee?
(A) 964 g7 (B) VAT (C) Faq1 R, (D) AERINEE gR
4. T2 F6912 6R6< 21AA 62ARYMI?
(A) 1850 (B) 1855 (© 1857 D) 1865
5. ot 62ad 12Ie Nee-
(A) 928 (B) 634 ©) 99 D) 63
6. 6@d @6eQ AIREA ISRO ATREIA A2 GSAT-6A 697 601516019 AISTAING AIF 201860 A8 @AS?

(A) GSLV-F09 (B) GSLV-F08 (©) GSLV-D2 (D) GSLV-Fol
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1 %l n B R &

geIn 39 QERIERITR 6I] @ AL 6ag IFER §goica QIae eaIAINYRI?

(A) S8R

(B) 6QIG] (©) soqiq

3RS AR 31 QEAIR ABYIGRR 6RPR 6RALER?
(4) AR ASARAA  (B) QRAIRAESA (O 9g6a9Q ANQ

QIZIY NIAS ANNIASA &Y TRIF AAUNHLIS QIR TG QAIAIRE?

(A) QISETIAIR TAQRA (B) FBIGIA1 TG (C) QG4 @
IR
RS AN Q1 LFARD, AIF 20186Q 0l6Q 6SliMIAIRYMI?
(A) PRI (B) 6299 (C) @dioR
Fo10 QIR Q8 6Q6Q RINYAI?
(A) 1526 B) 1556 (©) 1565
FORYe AUQ 39 TR AREReR gaA 8 A19 AR SR gem?

(A) 910 GROIAI (B) QAT AR-GR (C) 691627 IROI]

(D) P4

(D) 991 @2

(D) UIRIE 9L

(D) 213 964

(D) 1570

(D) QI IGI]

AIS 201869 2SR TR I KRS YROAANFF AT AR 676 ALAEA FTFIR AGIA USAR

2199 RAAINE?

(A) IR B) 9

FARge Aug 34 2018 T¢I U] A68AAR 9I9 GF gdisne F0as?
(A) 6Q9182IQ 696  (B) QAQ LISANG] (€) &7 QIRERIERR]

(C) QIETIERIR

8 @R 280 2@ ad2l 3FaQ 6A] MIARIR eF2RTQ 2018 FELE?

(A) 6E6gImAA (B) 609QIA 6216 (C) 2R a8Ie
6QI19Q g6AIAR g6q14dQ 6Q1%
6Q16

60628 FF1eR FIAYR FRIQ 674 FL1 AT 2QTe?

(A) 6181 (B) AL (C) edeal

694 QINS1E QIRIER T90 RaF QIQQ! A g AITYE ARE?

(A) Fesiaia (B) ARG, (C) Ggal
¢l QIFIRA RIGR AT FR AFER AATS?
(A) RRI6EE] (B) 6219QIR (C) GRGIE

(D) 983

(D) @IEm aA2eS

(D) 2R AUSLSIG 67199
geqldq 691%

(D) 69

D) QSIS

(D) 4@6Q&

6Q6 6i6a J6RIQ gAIR BAGRIS 2018 Q2] caaRe FIFARIACR 6ARA T UREA 6518 ATR

2197 *Age?

(A) 65 BeRIGIA (B) 70 @EMFIF

(C) 72 c?gemgm

I(D) 75 QERIGIF

- N
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1 Y Wil Il wil WY Wil il NWwiniil 1}

FERge AuQ 66 Aae Ale ARIAYR 6AR QNFe?
(A) QU QAT (B) 62 (€) 96 aeel (D) 6a4an
Q6961 F9Q 6RIG° 6ATREA QTR 6266 caIq FAIAINAIRG?
(A) 1560 (B) 2490 (C) 3250 (D) 3840
Fe9a10d (94 QS 22-23): FIRYS 9oRI QYR AR I6° 06R SuIgIngQ 999670 A99 Gagl
2Q4, QIR, AR, 9L, A, FI@, Q6T 9e° 28 6aI54 AIRIA 65NER 6RFAUTY qe @@ Qdgdl QIg
odgd 280 ITIE6R TOIAEA ¥e° AR QIAAES O1a AIREA | QAIT 2QaI QIR A1 QI 26 @Il AIsi6a
g6¢ ¥e* QI2Ie6a FQISOIQ 910 AIFEA 2qaT| AENITQ SIS ogd aIrea 288 adll
24 8 AT AR6A @4 988?
@) gal ®) @q (©) @l D) &I
Q8 g8y 6 QIp 9990a 939l AR AARIE, 6969 GG ANTET 09d QIF6a &9 a26Q?
(A) QRYI (B) AQ (©) 28 (D) age
SIS GAEQ §RINIRER 694 BaT aZa?
20,19, 17, (...) , 10, 5 y
(A) 12 ®) 13 (€) 14 D) 15
Q@ 4e° 9GR 6aIE Y QIAG DAIGEA 3 87 49° 6 Grca QaQIeE 08 67168 NRI0 AIA 943 686Q 98

QIF 68 @34l QIR 6AAIRG 6966 30 RITS?
(A)1 ®) 2 @3 D)6

PART-B (Mathematics) I

26.

27.

28.

29.

30.

31.

A man left % of his property to his daughter, and the remaining to his sons to be equally

divided among them. If the share of each son is double of that of the daughter, find the
number of sons.

(A) 2 B 3 € 4 D)5

The sides of a triangle are in the ratio of 3 : 4 : 5. If its perimeter is 48 cm, find the afea of
the triangle. -

(A) 60 cm? B) 72 cm? (© 84 cm? D) 96 cm? .

When 63558 is divided by 321, the quotient is 198. What will be the quotient when 6.3558 is
divided by 0.0198? ‘
(A) 3.21 B) 321 © 321 D) 3210

Find the selling ptice of an article listed at ¥150 on which there are discounts of 20% and
10%.

(A) 3104 (B) 2108 ©) 2115 D) 7120

Simplify: 31 - 725 + 29 X 7 + 167

(A) 23 B) 27 (C) 35 D) 39

The average age of a group of st.udents going for a picnic is 16 years. Twenty new students
with an average age of 15 years join the group on the spot due to which their average becomes
15.5 years. Find the number of students who initially went for picnic.

&) 5 (B) 20 (©) 25 (D) 30
S
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A bag contains ¥8600 in the form of hundred rupees notes,

rupees notes in the ratio of 2 : 3 : 4. Find the Number of fifty rupees note.

fifty rupees notes and twenty

@) 20 ®) 30 (© 40 ©) 60
If the sum of two numbers is 237, and 65 is their difference, then find their product.
(A) 12986 (B) 13487 (C) 14982 D) 15405

Two runners cover the same distance at the rates of 10 km/hr and 12 km/hr respectively.
Find the distance travelled when one takes 16 minutes longer than the other.

A) 8km B) 16 km (C) 24 km (D) 36 km

- A rectangular hall, 12 m long and 10 m broad is surrounded by a corridor 3 m wide. Find

the area of corridor.
(4) 168 m? (B) 184 m? (C) 224 m* (D) 245 m?

A vessel full of water weighs 16.5 kg. When the vessel is half full, it weighs 10.5 kg. Find the
weight of the empty vessel.

(A) 1.5kg B) 2kg (©) 3kg D) 4.5 kg
Find the sum of the integers between 1 to 201 which are multiple of 4.

(A) 4000 (B) 4400 (C) 4800 (D) 5100
Find the greatest number of three digit which is exactly divisible by 45.

(A) 980 (B) 985 (C) 990 D) 995

If 7 men and 16 women can complete a work in 15 days, then in how many days can 5 men
and 8 women complete the same work?

(A) 42 (B) 45 (C) 48 D) 52

The students in a class can be divided into groups of 3, 5, 6 and 10. Find the least number
of the students in the class.

(A) 20 B) 24 (© 30 D) 40

In an examination, 25 students out of 70 scored less than 50% marks. Find the ratio of the

number of students who scored 50% marks or more to the number of students who scored
less than 50% marks.

(A) 5:12 B) 5:14 (C) 9:5 D) 9:17

If a stationer buys diaries at ¥100 per dozen and sells them at 225 per piece, then find the
profit percentage. ,

(A) 150% (B) 200% (C) 250% D) 300%

The average weight of 24 students of section 'A' of a class is 58 kg whereas the average

weight of 26 students of section 'B' of the same class is 60.5 kg. Find the average weight of
all the 50 students of the class.

(A) 59 kg (B) 593 kg (C) 59.7 kg D) 60 kg
Akash began a business with ¥85000. Bhavan joined afterwards with ¥42500. For how much

period does Bhavan join if the profits at the end of the year are divided in the ratio of 3 : 1?
(A) 4 months (B) 5 months (C) 6 months (D) 8 months

If a train can hold 1540 passengers, how many trains are required to carry 40040
passengers?

(A) 24 B) 26 (C) 28 D) 30
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46.

47.

48.

49.

50.

I W Wil 1l Wil YV Wil ilNwisiil |l
At what time will 2 sum amount to 1120 at 4% per annum and 1200 at
Simple Interest?
(\) 5 years (B) 8years (C) 10 years (D) 12 years
Five percentage of the income of Ajith is equal to 10% of the income of Bharath, and 25%
of the income of Bharath is equal to 30% of the income of Suresh. If the income of Suresh
is ¥5000, then find the total income of Ajith, Bharath and Suresh.

(A) 215400 (B) 216000 (©) 221400 (D) 323000

Directions (Q. No. 48-50): Study the following graph and answer the qucstions given

below.

The following graph represents the marks obtained by two students in various subjects.
e Student A ~=g-~ Student B

5% per annum at

170 cvn

o

e B i

140

120 Fo

00

Marks
8

8
|

*
*

g 8 B

€

English
Geography
Physics
Histary
Hiudi
Chemnistry

What was the difference in marks between student A in Chemistry and student B in
History? ' '

A) 10 B) 20 () 40 D) 50

The marks obtained by student A in Hindi was what percentage of the marks obtained by
student B in Physics?

(A) 50% _ (B) 100% (C) 105% D) 120%

Find the average of marks obtained by student B in Physics, Chemistry, English and
Geography.

(A) 120 (B) 135 (C) 150 (D) 175

/26,

~J 2.

v 28.

PART-B (Mathematics) J

» ~ 1 e e _ R -
@66 Q18 9IF arted o Q& 32 QIR 21 AINYER I<° AREFIY QIFQ GACIRST Qe6R QIT6LQ! QIR

aggeR 47 98 GaITA SIS 2T QIGA 2GS 6NN 6569 GEAINTA QG 69607
-/
(A) 2 ®) 3 ©) 4 D)5

661G B@@a QIYERA 29AI6 6268 3 : 4 : 51 A7 YA AAAIA 48 6A§HGQ g9, 6962 FRSA
~ 1 ’
6RgTR Fda @9
(A) 60 96 62876 (B) 72 Q¢ 62875a (O 84 Q¢ 6Qdfiea D) 96 <4 6Q&FeQ

6A69696% 63558¢ 32160 RIG FAIAN, NITATR 198 SR, CACTEIER 6.3558g 0.01986 QI
R0IF9 6961 NATR 6REQ 62a?

(©) 321 D) 3210
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429, QIS SRERA OIT R 150 691 6qQIN, 6ANYSA 20% a* 10v G2I FAIIREIN, SIZIA 94 R

Q60?7

(A) %104 (B) 108 © 2115 (D) 2120
/30, QS9IGS @8Y: 31-725 =29 X 7 + 167

() 23 ®B) 27 (©) 35 D) 39

31, QEENIEQ f"'f?@fl‘i" 96 21GTR AL 909 6208 16 odl AI2@ c0a 15 °d AFgal 20 @4 g2
BIgRIG! ¥ IR6R AIFIR 6291 A6Q CANREA AT 9aQ 15.5 @F 2RI 6969 Y26 QEERTY 6969
o4 SI88Ig! QIRIAgER
@53 ®) 20 (© 25 (D) 30

32. RIS QTSR 86009FI G462 SR 6RIY, QLIS FE2I 6aIg ° 691G 92 6RIT NINEA 2 : 31 4
—— - ) p .
AQAITER QLT 696Q ACIA TF2 6RITR QY 6169 Fda eag X

(A) 20 B) 30 (©) 40 D) 60
v 33. 9T 9F QWA 6AITTR 6208 237, ¥&° 6Q9FRQ FEAUATR 6298 65, 6061 A FATR JOTR
¢da eau
- (A) 12986 (B) 13487 (C) 14982 (D) 15405

34. 299 84 6FIQIF QaNged 10 FeRIFcn /a8l 9e° 12 Feaifica/ael 206a AAIR 90l A5gA *QE! K66
2IRRESOIQ 16 AGT 2R AFH 67R2UE 6969 6a7I6R AIGI FRYRI §ABI 660 Fda *aY!

(A) 8 @8RG B) 16 @RIFIA (C) 24 F6RIGIA (D) 36 @RI

l/35. 9Q 2I9SIRIA 2RE 63dY 6208 12 foa ¥e° gd 10 {icq, Y2l S19A6E ¥Q 3 fica 0aea AIagl aFs!

696@ QIQSIR 6FETR 6268 Fda Fag _
(A) 168 @dAca (B) 184 qddicq (C) 224 Q9AFQ (D) 245 QFASR

\

36. 99 @90a AIga B8R 16.5 FERIFIA 6669 AIGT 2l g4 LRSI AAACA IR 8RR 10.5 FeMIFIA

621921 6969 g7 AIgR BeR Fda 4ag!
(A) 1.5 @emigie] (B) 2 @6RIgia (C) 3 FeRIGIA (D) 4.5 @ERIFIA

37. 4@ gdee 6219gQ 19 201 A¥6R AR THIYIRA CAITTR Q63 ada qan
(A) 4000 (B) 4400 (C) 4800 (D) 5100

/33. 45 gia1 agd F0IRY 3 A& 388 QA QHIT 6R60!
(A) 980 (B) 985 ¥ (C) 990 (D) 995
39. 98796 499 6 16 24 91 69154 QIAQ 15 §r6 68 AAT 6069 5 @4 g4 G 8 @4 AR AAIR Qg

688 96 AR 6R6R @7 6R6Q7
(A) 42 (B) 45 (C) 48 D) 52

/40, 6QI5 684168 QgEgel RISRISIS 3, 5, 6 99° 10 @62 RER Q09 FAUARAIG 6669 6§416Q

2GR76Q 6260 94 BIGRIGT ABG?

(A) 20 ®) 24 ©30 D) 40
| | [



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

41 6915 ARIRISR 70 Q6 BIRAIGIS FUQ 25 gq g1e@1gl 50%@ 97 #Fa A%adi 6967 6aA BIFAIAICE

50% QI 2R B0 AYEE CANRS QG A 505 @ @ AQ AYYR FIGRIGIT AHIA AFAIP 6AGE
629 3da cag)
(A)5:12 ) 5:14 (© 9:5 D)9:17

7 42, A0 968 6AIQIR 087 T81 100 691 FAR6R Qigar 347 1e° caIFg 25071 2R &7 @43, 6969

ISR 9099 AIN 6960 G40 eag?

(A) 150% v (B) 200% - (C) 250% (D) 300%

ARG 'A' 6 24 94 HLGIFE AR 6e cead 58 FenIgIn 60696767 @ AFIR 68618 INT 'B' A
26 96 YIGUFITA AAIRIA 627 626 60.5 g 6967 64419 671G 50 94 BIQAYIFR QAT CLR
6667

(A) 59 QeRgia ’/(B) 59.3 Gemigiel (©) 59.7 FeRigliA| D) 60 FERIFIA

44. RKE 6T Y9G 85000 §F1 7694 AFQ 2IaA Q6RI SITIIER OIF 98 42500 95 A2 6QITETER

RGN AT 2 68960 ARG 3: 1 AGAIGER Q1T FAIAINE 6969 AITT 6960 29y QIR 6QIS 69A8F?
(A) 4 Q19 (B) 591Q (C) 691 D) 8 aIQ
45. Q9 601G\ 65R6R 1540 R4 QI AIYI FAAIRE 6069 40040 AIG! QI *AQ QIR 6R60IT 68] 2R
6297

(A) 24 /B) 26 (©) 28 D) 30

6Q66 QFIA AIER 1@ AGAIS ATR 4% 2R6A 1120691 8 QTR 5% 2U06a 1200651 6297
A58 B) 84 (C) 1029 - D)12ed

- 46.
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48. QIR IRWAEA BIQ A AYYRI A 8 QAFAAIER TG B gyQl @R A6 Qleley 62697

(A) 10 (B) 20 (© 40 (D) 50
49. Q168 BIQ A AFYRI /e AIIGRIRER 11 B AR 200 469! 62607
(A) 50% (B) 100% (C) 105% (D) 120%
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(&) 120 (B) 135 (C) 150 D) 175
PART-C (I) (English) ]
51. Choose the correct antonym of the given word from the options given below.
' ANONYMOUS
(A) Unidentified (B) Famous (C) Obscure (D) Secret

52. The following sentence is divided into four parts (P, Q, R and S). Rearrange it in the proper
sequence in order to make a meaningful sentence.
(P) People made, used

(Q) Archaeology is the study

(R) And left behind

(S) Of things that

(A) QSPR - (B) SQPR (C) RSQP (D) QPRS

53. Fill in the blank with appropriate article.
soup you made on Friday tasted good.
A) A (B) An (C) The (D) No article

54. Choose the correct tense form of the undetlined verb in the sentence given below.
Sumanth has been sleeping for five hours.
(A) Simple present (B) Simple past (C) Future continuous (D) Present perfect
g contunuous
55. Choose the option which best expresses the meaning of the idiom/phrase given below.
"In accordance with"

(A) To oppose (B) In conformity with (C) To irritatcand (D) Something
someone's idea something annoy very much outstanding

56. Fill in the blank with the most appropriate word which will suit the context of the sentence.

Making pies and cakes Mrs. Ram's speciality.
(A) Has B) Are - (C) Were D) Is
57. Choose the correct synonym of the given word from the options given below.
IGNORANCE
(A) Wisdom (B) Prudence (C) Intelligence (D) Foolishness
58. Choose the correct antonym of the given word from the options given below.
PRUDENT
(A) Economical (B) Shrewd (C) Careless (D) Judicious

59. Choose the correct conjunction to complete the following sentence.

The man is poor, he is honest.

(A) Nor (B) But (C) After (D) Once
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Complete the proverb.
is the best policy.

(A) Poverty (B) Helping (C) Writing (D) Honesty
Fill in the blank with appropriate article,

Ranjith is European.

@) A ®) An (C) The (D) No article
The following sentence is divided into four patts (P, Q, R and S). Rearrange it in the proper
sequence in order to make a meaningful sentence.

(P) As Africa or Asia

(Q) Atrea ofland such

(R) A continent is a very large

(8) That consists of several countries

(A) QRPS (B) RPQS (C) PQRS (D) RQPS
Choose the correct conjunction to complete the following sentence.

Ididit he told me to.

@A) Or (B) Such (©) So (D) Because

Complete the proverb.
Don’t judge a book by its i

(A) Author (B) Paper (C) Cover (D) Publisher

Choose the correct form of the verb from the options given to complete the sentence.

Sun in the east. (rise)

(A) Rise (B) Rising (C) Rises (D) Risen

Fill in the blank with the most appropriate word which will suit the context of the sentence.
All stars to be about the same size when observed from Earth.

(A) Appear (B) Develop (C) Present (D) Show

Choose the correct preposition from the given options to complete the sentence.
Ram was already the door.

(A) At B) In (C) About D) Of

Choose the correct form of the verb from the options given to complete the sentence.
She an important role in our organization. (perform)

(A) Performs (B) Perform (© Performing (D) Will performed
Choose the correct synonym of the given word from the options given below.
ABUNDANT

(A) Insufficient (B) Plentiful (€) Empty (D) Deficient

Choose the option which best expresses the meaning of the idiom /phrase given below.

"Once in a blue moon"

(A) Very rarely (B) An action that takes place frequently

(C) To worry about something happened in the (D) To enjoy a moment
past
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Directions (Q. No. 71-75): Read the following passage carcfully and answer the questions
given below.

A young woman inherited a beautiful garden from her grandmother. She loved gardening
too and was very proud of her garden. One day, she saw a very beautiful plant in a catal(?g
and wanted that for her garden. She ordered it and planted it at the base of the stonewall in
her backyard. She took great care of the plant, which grew quickly and had beautiful green
leaves on it. Months passed, but not a single flower bloomed on the tree. Vexed, she almost
wanted to cut the tree down. At such a time, her neighbour called and said, “Thank you so
much for the beautiful flowers. You have no idea how much I enjoy looking at the blooms of
the vine you have planted”. Hearing this, the young girl rushes to the neighbour’s side of the
wall and sees the most beautiful flower in bloom. All the care she took had paid off. Only the
vine crept through the crevices because of which it did not flower on her side of the wall but
did generously on the other side. Just because you cannot see the good results of your efforts
does not mean that it bore no fruit. .

71. From whom did the young woman inherit the garden?

(A) Uncle (B) Father (C) Grandmother (D) Brother
72. Why was the young woman vexed?
(A) Because no flower (B) Because flowers  (C) Because of (D) Because the
bloomed on the " bloomed on the continuous rain neighbour cut down
tree other side the tree

73. Did the tree bloom any flowers eventually?
(A) Yes, the tree (B) No, the tree did not (C) Not mentioned in (D) None of these
bloomed flowers bloom any flowers the passage
74. How many months did it take for flowers to bloom on the tree?
(A) Nine months (B) Seven months (C) Three months (D) Data inadequate

75. Which of the following statements is TRUE?
(A) No flower bloomed (B) All hard work and (C) Eventually the (D) The young woman

on the tree care she took had woman cut down envied her
paid off the tree neighbour
PART-C (IT) (Odia) ' j
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